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Test One

SECTION I (25 Questions)
Time—35 minutes

Directions: The questions in this section are based on the reasoning contained in brief statements or pas-
sages. For some questions , more than one of the choices could conceivably answer the question. However,
you are to choose the best answer; that is, the response that most accurately and completely answers the
question. You should not make assumptions that are by commonsense standards implausible , superfluous,
or incompatible with the passage. After you have chosen the best answer, blacken the corresponding space

on your answer sheet.

1. Something must be done to ease traffic conges-
tion. In traditional small towns, people used to
work and shop in the same town in which they

mum speed limit on major highways
should be fined.
(E) New businesses should be encouraged to
lived; but now that stores and workplaces are locate closer to where their workers would
located far away from residential areas, people live.
cannot avoid traveling long distances each day. 2. College professor: College students do not write
nearly as well as they used to. Almost all of

the papers that my students have done for

Traffic congestion is so heavy on all roads that,
even on major highways where the maximum
speed limit is 55 miles per hour, the actual
speed averages only 35 miles per hour.

Which one of the following proposals is most

me this year have been poorly written and

ungrammatical .
Which one of the following is the most serious

supported by the statements ahove?

(A) The maximum speed limit on major high-
ways should be increased. ,

(B) People who now travel on major highways
should be encouraged to travel on sec-
ondary roads instead.

(C) Residents of the remaining traditional
small towns should be encouraged to
move to the suburbs.

(D) Drivers who travel well below the maxi-

weakness in the argument made by the profes-

sor?

4A) It requires confirmation that the change in
the professor’s students is representative of
a change among college students in gener-
al.

(B)1t offers no proof to the effect that/the pro-
fessor is an accurate judge of writing abili-
ty.

(C) 1t does not take into account the possibility

. 1 .



that the professor is a poor teacher.
(D)1t fails to present contrary evidence.
(E)1t fails to define its terms sufficiently.

Questions 3—4

Mayor of Plainsville: In order to help the economy
of Plainsville, I am using some of our tax
revenues to help bring a major highway
through the town and thereby attract new
business to Plainsville.

Citizens’ group: You must have interests other than
our economy in mind. If you were really in-
terested in helping our economy, you would
instead allocate the revenues to building a
new business park, since it would bring in
twice the business that your highway would.

3. The argument by the citizens’ group relies on

which one of the following assumptions?

(A)Plainsville presently has no major highways
running through it.

(B) The mayor accepts that a new business
park would bring in more new business
than would the new highway.

(C) The new highway would have no benefits
for Plainsville other than attracting new
business. |

(D) The mayor is required to get approval for
all tax revenue allocation plans from the
city eouncil.

(E) Plainsville’s economy will not be helped
unless a new business park of the sort en-
visioned by the citizens’ group is built.

4. Which one of the following pnnciples, if

accepted, would most help the citizens’ group

to justify drawing its conclusion that the mayor

has in mind interests other than Plainsville’s e-

conomy?

(A)Anyone really pursuing a cause will choose

. 2 .

the means that that person believes will
advance the cause the farthest.

(B) Any goal that includes helping the econo-
my of a community will require public rev-
enues in order to be achieved.

(C) Anyone planning to use resources collected
from a group must consult the members of
the group before using the resources.

(D) Any cause worth couunitting oneself to

must include specific goals toward which
one can work .

(E)Any cause not pursued by public officials,
if it is to be pursued at all, must be pur-
sued by members of the community.

. Recently, highly skilled workers in Eastern Eu-

rope have left jobs in record numbers to emi-

grate to the West. It is therefore likely that

skilled workers who remain in Eastern Europe
are in high demand in their home countries.

Which one of the following, if true, most seri-

ously weakens the argument?

(A) Eastem European factories prefer to hire
workers from their home countries rather
than to import workers from abroad.

(B) Major changes in Eastem European eco-
nomic structures have led to the elimina-
tion of many positions previously held by
the highly skilled emigrants.

(C)Many Eastern European emigrants need to
acquire new skills after finding work in the
West.

(D) Eastem European countries plan to train
many new workers to replace the highly
skilled workers who have emigrated.

(E)Because of the departure of skilled workers
from Eastern European countries, many po-
sitions are now unfilled.

6. Historian: Alexander the Great should not be



judged by appeal to current notions of jus-
tice. Alexander, an ancient figure of heroic
stature, should be judged by the standards
of his own culture. That is, did he live up
to his culture’s ideals of leadership? Did
Alexander elevate the contemporary stan-
dards of justice? Was he, in his day,
judged to be a just and wise ruler?

Student: But you cannot tell whether or not
Alexander ra.ised the contemporary stan-
damds of justice w1t.hou t/inv standards
other than those of his ov[n lﬂEl.l'e

Which one of the following argumentative

strategies does the student use in responding to

the historian?

(A) arguing that applying the historian’s prin-
ciple would require a knowledge of the
past that is necessarily inaccessible to cur-
rent scholarship

(B) attempting to undermine the historian’s

principle by showing that some of its con-
sequences are inconsistent with each other

(C)showing that the principle the historian in-
vokes, when applied to Alexander, does not
justify the assertion that he was heroic

(D) questioning the historian’s motivation for
determining whether a standard of behav-
ior”l-l’zis been raised or lowered

(E)claiming that one of the historian’s criteria
for judging Alexander is inconsistent with
the principle that the historian has ad-

vanced 1v d

Questions 7—8

Two paleontologists, Dr. Tyson and Dr. Rees, dis-
agree over the interpretation of certain footprints
that were left among other footprints in hardened
volcanic ash at site G. Dr. ~Tyson claims they are

P—

clearly early hominid footprints since they show
human characteristics: a squarish heel and a big
toe immediately adjacent. to the next toe. Howev-
er, since the footprints_ indicatg that if hominids
made those prints they would have had to walk in
an unexpected cross-stepping manner, by placing
the left foot to the right of the right foot, Dr. Rees
rejects Dr. Tyson’s conclusion.
7. The disagreement between the two paleontolo-
gists is_over which one of the following?
(A)the relative significance of various aspects
of the evidence

(B) the assumption that early hominid foot-
prints are distinguishable from other foot-
prints

(C) the possibility of using the evidence of

\ footprints to determine the gait of the
creature that made those footprints

(D)the assumption that evidence from one pa-

" leontologic site is enough to support a con-
clusion

( E) the likelihood that early hominids would
have walked upright on two feet

8. Which one of the following, if true, most seri-

ously undemnines Dr. Tyson's conclusion?

(A) The footprints showing human characteris-
tics were clearly those of at least two dis-
tinct individuals .

(B)Certain species of bears had feet very like
human feet, except that the outside toe on
each foot was the bxgg&st toe and the
innermost toe was the smallest toe.

(C) Footprints shaped like a human’s that do

" not show & cross-stepping pattern exist at
site M, which is a mile away from site G,
and the two sets of footprints are contem-
poraneous .

(D) When the moist voleanic ash became

© 3.



sealed under additional layers of ash be-
fore hmﬂenifllg,‘s;r‘n; details of some of
the footprints were erased.
(E)Most of the other footprints at site G were
of animals with hooves.
- It is not known whether bovine spongiform en-
cephalopathy( BSE) , a disease of cattle invari-
ably deadly to them, can be transmitted directly
from one infected animal to another at all
stages of the infection. If it can be; there is now
a teservoir of infected cattle incubating the dis-

ease. There are no diagnostic tests to identify

infected animals before the animals show overt .

symptoms. Therefore, if such direct transmis-

sion ;c::ms, the disease cannot be eradicated

by . ek

Which one of the following best completes the

argument?

(A)removing from the herd and destroying any
diseased animal as soon as it shows the
typical symptoms of advanced BSE

(B)developing a drug that kills the agent that
causes BSE, and then treating with that
drug all cattle that might have the disease

(C) destroying all cattle in areas where BSE
occurs and raising cattle only in areas to
which BSE is known not to have spread

(D) developing a vaccine that confers lifelong
immunity against BSE and giving it to all
cattle, destroying in due course all those
animals for which the vaccine protection
came too late

(E)developing a diagnostic test that does iden-
tify any infected animal and destroying all
animals found to be infected

10. Auto industry executive: Statistics show that

cars that were built smaller after 1977 to
make them more fuel-efficient had a

11

higher incidence of accident-related fa-
talities than did their earlier, larger
counterparts. For this reason we oppose
recent guidelines that would require us
to produce cars with higher fuel effi-
ciency.

Which one of the following, if true, would

constitute the strongest objection to the

executive’s argument?

{A) Even after 1977, large automobiles were
frequently involved in accidents that
caused death or serious injury.

(B) Although fatalities in accidents involving
small cars have increased since 1977, the
number of accidents has decreased.

(C) New computerized fuel systems can en-
able large cars to meet fuel efficiency
standards established by the recent
guidelines.

(D) Modem technology can make small cars
more fuel-efficient today than at any oth-
er time in their production history.

(E) Fuel efficiency in models of large cars
rose immediately after 1977 but has been

declining ever since.

. No one who lacks knowledge of a subject is

competent to pass judgment on that subject.
Since political know-how is a matter, not of
adhering to techriltca:l rules, but of insight and
style leamed through vaéprentices\hip and ex-
perience . only seasoned politicians are compe-
tent to judge whether a particular political
policy is fair to all.

A major weakness of the argument is that it
(A)relies on a generalization about the cha-
" racteristic that makes someone competent

to pass judgment
(B)fails to give specific examples to illustrate
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how political know-how can be acquired

(C) uses the term “apprenticeship” to de-
scribe what is seldom a formalized rela-
tionship

(D) equates political know-how with under-
standing the social implications of politi-
cal policies

(E) assumes that when inexperienced politi-
cians set policy//"f;lley are guided by the
advice of more /experienced politicians

Impact craters caused by meteorites smashing

into Earth have been found all around the

globe, but they have been found in the great-
est density in geologically stable regions. This
relatively greater abundance of securely iden-
tified craters in geoiogx\;aﬁy stable regions
must be explaine9/ by the /_lowg rated) of de-
structive geophysical processes in those

regions. V

The conclusion is properly drawn if which one

of the following is assumed?

(A) A meteorite that strikes exactly the same

V spot as an earlier meteorite will obliterate
all traces of the earlier impact.

(B)Rates of destructive geophysical processes
within any given region@ markedly
throughout geological time.

(C) The rate at which the Earth is struck by
meteorites has greatly increased in geo-
logically recent times. N2

(D) Actual meteorite impacts have been scat-
tered fairly evenly over the Earth’s sur-
face in the course of Earth’s geological
history .

(E) The Earth’s geologically stable regions

have been studied more intensively by
geologists than have its less stable re-

gions.

I

13. That the p(.>licy" of nuclear “deterrence has

worked thus far is unquestionable. Since the
end of the Second World War, the very fact
that there were nuclear armaments in exis-
tence has kept major powers from using nu-
clear weapons, for fear of starting a worldwide
nuclear exchange that would make the land of
the power initiating it uninhabitable. The
proof is that a third world war between super-
powers has not happened.

Which one of the following, if true, indicates a

flaw in the argument?

( A)Maintaining a high level of nuclear arma-
ments represents a significant drain on a
country’s economy.

(B)From what has happened in the past, it is
impossible to infer with certainty what
will happen in the future, so an accident
could still trigger a third world war
between superpowers.

(C) Continuing to produce nuclear weapons
beyond the minimum needed for- deter-
rence increases the likelihood of a nucle-
ar accident.

(D) The major powers have engaged in many
smaller-scale military operations since the
end of the Second World War, while re-
fraining from a nuclear confrontation.

(E) It cannot be known whether it was
nuclear deterrence that worked, or some
other factor, such as a recognition of the
economic value of remaining at peace.

14. A survey of alumni of the class of 1960 at Au-

rora University yielded puzzling results. When

asked to indicate their academic rank, half of

the respondents reported that they were in the

top quarter of the graduating class in 1960.

Which one of the following most helps account
. 5 .
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for the apparent contradiction above?

(A)A disproportionately large number of high-
vranking alumni responded to the survey.

(B) Few, if any, respondents were mistaken
about their class rank.

(C)Not all the alumni who were actually in
the top quarter responded to the survey.

(D) Almost all of the alumni who graduated in
1960 responded to the survey,

(E) Academic rank at Aurora University was
based on a number of considerations in
addition to average grades.

M: It is almost impossible to find a person be-
tween the ages of 85 and 90 who primarily
uses the left hand. t

Q: Seventy to ninety years ago, however, chil-

dren were punished for using their left
hands to eat or to write and were forced to
use their right hands.

Q’s response serves to counter any use by M of

the evidence about 85 to 90 year olds in sup-

port of which one of the following hypotheses?

(A)Being bom right-handed confers a survival
advantage .

(B)Societal attitudes toward handedness differ
at different times.

(C) Forcing a person to switch from a pre-
ferred hand is harmless.

(D) Handedness is a product of both genetic
predisposition and social pressures.

(E) Physical habits leamed in school often
persist in old age.

The seventeenth-century physicist Sir lsaac

Newton is remembered chiefly for his treatises

on motion and gravity. But Newton also con-

ducted experimenis secretly for many years
based on the arcane theories of alchemy, try-
ing unsuccessfully to transmute common met-

6
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als into gold and produce rejuvenating elixirs.

If the alchemists of the seventeenth century

had published the results of their expeni-

ments,, chemistry in the eighteenth century
would have been more advanced than it actu-
ally was.

Which one of the following assumptions would

allow the conclusion conceming eighteenth-

éentury chemistry to be properly drawn?

(A) Scientific progress is retarded by the re-
luctance of historians to acknowledge the
failures of some of the great scientists.

(B) Advances in science are hastened when

‘ reports of experiments, whether success-
ful or not, are available for review by
other scientists.

(C) Newton’s work on motion and gravity
would not have gained wide acceptance

if the results of his work in alchemy had
also been made public.

(D) Increasing specialization within the sci-
ences makes it difficult for scientists in

one field to understand the principles of
other fields.

(E) The seventeenth-century alchemists could
have achieved their goals only if their ex-
periments had been subjected to public
scrutiny .

Sedimentary rock hardens within the earth’s -

crust as layers of matter accumulate and the

pressure of the layers above converts the lay-
ers below into rock. One particular layer of
sedimentary rock that contains an unusual
amount of the element iridium has been pre-
sented as support for a theory that a meteorite
collided with the earth some sixty million
years ago. Meteorites are rich in iridium com-
pared to the earth’s crust, and geologists
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theorize that a meteorite’s collision with the
earth raised a huge cloud of iridium-laden
dust. The dust, they say, eventually settled to
earth where it combined with other matter,
and as new layers accumulated above it, it
formed a layer of iridium-rich rock.

Which one of the following, if true, would

counter the claim that the iridium-rich layer

described in the passage is evidence for the
meteorite collision theory?

(A) The huge dust cloud described in the
passage would have blocked the trans-
mission of sunlight and lowered the
earth’s temperature .

(B)A layer of sedimentary rock takes millions
of years to harden.

(C) Layers of sedimentary rock are used to
determine the dates of prehistoric events
whether or not they contain iridium.

( D\)/Sixty million years ago there was a surge

in voleanic activity in which the matter
spewed from the volcanoes formed huge
iridium-rich dust clouds.

(E)The iridium deposit occurred at about the
same time that many animal species be-
came extinct and some scientists have
theorized that mass dinosaur extinctions
were caused by a meteorite collision.

Mary,a veterinary student, has been assigned
an experiment in mammalian physiology that
would require her to take a healthy, anes-
thetized dog and subject it to a drastic blood
loss in order to observe the physiological con-
sequences of shock The dog would neither re-
gmn consciousness nor survive the experi-
meht Maxy decides not to do this assignment.

Mary’s decision most closely Becords with

which one of the following principles?

19.

(A)AH other things being equal, gratuitously
" causing any animal to suffer pain is un-
justified .

(B)Taking the life of an animal is not justifi-
able unless doing so would immediately
assist in saving several animal lives or in
protecting the health of a person.

(C) The only sufficient justification for exper-
imenting on animals is that future animal
suffering is thereby prevented.

(D) Practicing veterinarians have a profes-
sional obligation to strive to prevent the
unnecessary death of an animal except in
cases of severely ill or injured animals
whose prospects 'fq}‘“‘moovery are dim.

(E)No one is ever justified in acting with the
sole intention of causing the death of a
living thing, be it animal or human.

A tree’s age caxz be determined by counting
the annual growth rings in its trunk . Each ring
xepresenfé one year, and the ring’s thickness
reveals the relative amount of rainfall that
year. Archaeologists successfully used annual
rings to determine the relative ages of ancient
tombs at Pazyryk . Each tomb was constructed
from freshly cut lqgs,and the tombs builders
were constxau;aaaix_)_r_g:a‘dltlonv to use only logs
from trees growing in the sacred Pazyryk Val-
ley.

Which one of the following, if true, con-

tributes most to an explanation of the

archaeologists’success in using annual rings to
establish the relative ages of the tombs at the

Pazyryk site? -

(A) The Pazyryk tombs were all robbed during
ancient times, but breakage of the tombs,
seals allowed the seepage of water, which
soon froze permanently, thereby preserv-

. 7 .



ing the tombs’nemaiﬁing artifacts.

(B) The Pazyryk Valley, surrounded by ex-
tremely high mountains, has a distinctive
yearly pattern of rainfall, and so trees
growing in the Pazyrvk Valley have
annual rings that are quite distinct from
trees growing in nearby valleys.

(C)Each log in the Pazyryk tombs has among
its rings a distinctive sequence of twelve
annual rings representing six drought
years followed by three rainy years and
three more drought years.

(D) The archaeologists determined that the
youngest tree used in any of the tombs
was 90 years old and that the oldest tree
was 450 years old.

(yAll of the Pazyryk tombs contained cul-
tural artifacts that can be dated to roughly
2300 years ago.

. Experienced gardeners advise against planting
snap peas after late April because peas do not
develop properly in warm weather. This year,
however, the weather was unusually cool into
late June, and therefore the fact that these
snap peas were planted in mid-May is unlike-
ly to result in c/ng_)faﬂqm despite the experts’
wamings.

The pattern of reasoning displayed above is

most closely paralleled in which one of the

following?

(A) According to many gardening authorities,
tomatoes should not be planted near dill
because doing so is likely to affect their
taste adversely; however, since these
tomatoes were grown near dill and taste
fine, there is clearly no reason to pay
much attention to the so-called experts’
advice.

.8 -
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(B)Since African violets do not thrive in di-
rect sunlight, it is said that in this region
these plants should be placed in windows
facing north rather than south; however,
since these south-facing windows are well
shaded by evergreen trees, the African
violets placed in them are likely to grow
satisfactorily .

(C) Where flowers are to be planted under
shade tress, gardening experts often
advise using impatiens since impatiens
does well in conditions of shade; howev-
er,it is unlikely to do well under maple
trees since maple tree roots are so near
the surface that they absorb all available
moisture .

(D) Most seeds tend to germinate at much
higher rates when planted in warm soil
than when planted in cold soil; spinach
seeds, however, are unlikely to germinate
properly if the soil is too warmm, and
therefore experts advise that spinach
should be planted earlier than most
vegetables.

(E)House plants generally grow best in pots
slightly larger than their existing root sys-
tems,so the usual advice is to repot when
roots first reach the sides of the pot; this
rule should not be followed with amaryllis
plants, however, because they are likely to
do best with tightly compressed roots.

Whenever a major political scandal erupts, be-

fore an election and voters blame the scandal

;on all parties about equally, virtually all

incumbents, from whatever party, seeking re-
election are returned to office . However, when
voters blame such a scandal on only one par-
ty, incumbents from that party are likely to be
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defea;ted by challengers from other parties.

The proportion of incumbents who seek re-

election is high and remarkably constant from

election to election.

If the voters’ reactions are guided by a princi-

ple, which one of the following principles

would best account for the contrast in reac-
tions described above?

(A) Whenever one incumbent is responsible
for one major political scandal and an-
other incumbent is responsible for anoth-
er, the consequences for the two incum-
bents should be the same.

(B)When a major political scandal is blamed
on incumbents from all parties, that judg-
ment is more accurate than any judgment
that incumbents from only one party are
to blame.,,

(C)Incumbents who are rightly blamed for a
major political scandal should not seek
reelection, but if they do, they should not
be returned to office.

(D) Major political scandals can practically
always be blamed on incumbents ,»-';blut
whether those incumbents should be
voted out of office depends on who their
challengers are.

(E) When major political scandals are less the
responsibility of individual incumbents
than of the parties to which they belong,
whatever party was responsible must be
penalized when possible.

Quce people habitually engaged in conversa-

tions>now the television competes for their

attention. When the television is on, commu-
nication between family members stops. Where
there is no communication, family ties become
frayed and eventually snap. Therefore, the
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only solution is to get rid of the television.

Which one of the following is most closely

parallel in its reasoning to the flawed reason-

ing in the argument above?

{A) Once friendships thnvgdu ‘on; shared
leisure time. But contemporary econom-
ic pressures minimize the amount of
free time people have and thus jeopar-
dize many friendships.

(B) Once people listened to the radio while
pursuing other activities. Now they pas-
sively watch television. Therefore, radio
was less distracting for most people than
television is.

(C)Once sports enthusiasts regularly engaged

Y i spoits, but now they watch jspectator.
sports when they could be getting physi-
cal exercise. Without physical exercise,
health deteriorates. Therefore, the only
remedy is to eliminate spectator sports.

(D) Once people were willing to tailor their
day to the constraints of a bus or train
schedule; now they are spoiled by the
private car. The only solution is for gov-
emment to offer financial incet{ﬁ{}w to
encourage the use of public transporta-
tion. V

(E)Once people did their shopping in urban
retail districts, where they combined their
shopping with other crrands. Now many
people shop in suburban_malls, where
they concentrate on shopping exclusively.
Therefore,, shopping has become a leisure

time activity.

. In essence, all rent-control policies involve

specifying a maximum rent that a landlord

may charge for a dwelling. The rationale for

controlling rents is to protect tenants in situa-
9.



tions where limited supply will cause rents to
rise sharply in the face of increased demand.
However, although rent control may help some
tenants in the short run, it affects the rental-
housing market adversely in the long run be-
cause landlords become reluctant to maintain
the quality of their existing properties and
even more reluctant to have additional rental-
housing units built.

Which one of the following, if true, best ex-

plains the landlords’ reluctance described

above?

(A) Tenants prefer low-quality accommoda-
tions with rent control to high-quality ac-
commodations without it.

(@) Rent control makes it very difficult for
landlords to achieve reasonable returns
on any investments in maintenance or in
new construction.

{C) Rent control is a common practice even
though it does nothing to alleviate short-
ages in rental housing.

(D) Rent control is generally introduced for
political reasons and it takes political ac-
tion to have it lifted again.

(E)Tenants prefer rent control to the alterna-
tive of receiving direct government subsi-
dies toward rents they cannot afford.

. Certain minor peculiarities of language are

used unconsciously by poets. If such peculiar-

ities appear in the works of more than one po-
et, they are likely to reflect the language in
common use during the poets’ time. Howev-
er,if they appear in the work of only one po-

e, they are likely to be personal idiosyn-

crasies. As such, they can provide a kind of

“fingerprint” that allows scholars, by compar-

ing a poem of previously unknown authorship
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to the work of a particular known poet, to i-
dentify the poem as the work of that poet.
For which one of the following reasons can the
test described above never provide conclusive
proof of the authorship of any poem?

(A) The labor of analyzing peculiarities of
language both in the work of a known
poet and in a poem of unknown author-
ship would not be undertaken unless
other evidence already suggested that the
poem of unknown authorship was written
by the known poet.

(B) A peculiarity of language that might be
used as an identifying mark is likely to
be widely scattered in the work of a
poet ,so that a single poem not known to
have been written by that poet might not
include that peculiarity.

(C) A peculiarity of language in a poem of

\ unknown authorship could be evidence
either that the poem was written by the
one author known to use that peculiarity
or that the peculiarity was not unique to
that author.

(D)Minor peculiarities of language contribute
far less to the literary effect of any poem
than such factors as poetic form, subject
matter, and deliberately chosen wording.

- (E)A poet’s use of some peculiarities of lan-

guage might have been unconscious in
some poems and conscious in other
poems, and the two uses would be indis-
tinguishable to scholars at a later date.

. Because of the recent transformation of the

market, Quore . Inc. , must increase productiv-
ity 10 percent over the course of the next two
years, or it will certainly go bankrupt.In fact,
however, Quore’s production structure is such



that if a 10 percent productivity increase is

possible, then a 20 percent increase is attain-

able.

If the statements above are true, which one of

the following must on the basis of them also

be true?

(A) 1t is only Quore’s production structure
that makes it possible for Quore to sur-
vive the transformation of the market.

(B)Quore will not go bankrupt if it achieves

a productivity increase of 20 percent over

the next two years.

(C)If the market had not been transformed,
Quore would have required no productivi-
ty increase in order to avoid bankruptcy.

(D) Because of the transformation of the mar-
ket, Quore will achieve a productivity in-
crease of 10 percent over the next two
yems .

(K)If a 20 percent productivity increase is
unattainable for Quore, then it must go
bankrupt.

SECTION [ (24 Questions)
Time—35 minutes

Directions: Each group of questions in this section is based on a set of conditions. In answering some of

the questions, it may be useful to draw a rough diagram. Choose the response that most accurateiy and

completely answers each question and blacken the corresponding space on your answer sheet.

estions 1—6
John receives one grade for each of the following
six courses: economics, geology, history, Italian,
physics, and Russian. From highest to lowest, the
possible grades are A, B, C, D, and E. E is the
only failing grade. Two letter grades are consecu-
tive if and only if they are adjacent in the alpha-
bet.

John’s grades in geology and physics are con-

secutive.

His grades in Italian and Russian are consecu-

tive,

He receives a higher grade in economics than

in history.

He receives a higher grade in geology than in

physics.

. If John receives the same grade in economics

and Italian, and if he fails Russian, which one
of the following must be true?

(A)John’s geology grade is a B.

(B)John's history grade is a D.

(C)John's history grade is an E.

(D) John’s physics grade is a B.

(E)John's physics grade is a C.

. If John passes all his courses and receives a

higher grade in geology than in either lan-
guage, which one of the following must be true?
(A)He receives exactly one A.
(B)He receives exactly one B.
(C)He receives exactly two Bs.
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